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Briefly describe the concept of simultaneous, or concurrent engineering.

AAZ (20 )

What are major objectives of master production scheduling?

WA= (20 4 )

Describe why waiting lines form.

WL - (40 5

Consider the problem with duration times and precedence Predece- duration
relationships shown in the right-hand table: $S0IS (days)
(1) Determine the critical path and its duration. (20 %) g - 3
a
(2) Determine the slack of job b. (10 &) c a g
(3) If job b is delayed for 5 days, what is the impact on the project? d ¢ 2
S ) T ;
(4) If job b shortened 2 days, what is the impact on the project? g :c_ 1
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94 910 748 830 930
95 900 800 940 840
96 960 690 810 830
97 1080 820 840 740
98 1160 780 850 700
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A 7 5 3
B 6 2 9
C 5 4 2
D 10 1 4
E 8 4 3
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A 4 9

B 13 37

C 6 8

D 3 7

E 11 39

F 9 21

G 8 16
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